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QUESTION 1

A network technician needs to configure a port on a switch to provide connectivity and electrical support to a WAP being
installed in a warehouse. 

Which of the following features needs to be configured on the switch? 

A. STP 

B. PoE 

C. VTP trunking 

D. Port forwarding 

Correct Answer: B 

Power over Ethernet or PoE describes any of several standardized or ad-hoc systems which pass electrical power along
with data on Ethernet cabling. This allows a single cable to provide both data connection and electrical power to devices
such as wireless access points or IP cameras. 

 

QUESTION 2

Companies trying to cut down on constant documentation of IP addresses could use which of the following? 

A. Longer lease times 

B. More reservations 

C. Larger scopes 

D. Dynamic IP addressing 

Correct Answer: D 

In Dynamic IP addressing all the hosts with private ip address will be patted to the same ip so the administrator will not
have to keep track of each and every host with private ip mapped to a static public ip address. 

 

QUESTION 3

When installing new WAPs in a small office, which of the following is the BEST way to physically mitigate the threats
from war driving? 

A. Implement multiple wireless encryption techniques. 

B. Implement PoE on each WAP. 

C. Decrease signal strength. 

D. Increase signal strength. 
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Correct Answer: C 

 

 

QUESTION 4

Which of the following source ports is MOST likely to be used by a client when making an outbound TCP connection to
a windows server? 

A. 80 

B. 445 

C. 3000 

D. 3389 

Correct Answer: C 

 

 

QUESTION 5

In order for switching loops to be automatically disabled, which of the following needs to be implemented? 

A. Routing tables 

B. Collision domains 

C. Port mirroring 

D. Spanning-tree protocol 

Correct Answer: D 
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